B750 2005 55 111 SERERE 2005 4F55 26 BB — A AR T

2005 £55 111 SRARDE

2005 4858 (BR) (1BF]) <)

CHR¥E CHIB MR (5F 84 %) 25 22 )it
Ak RS ek R B BRI L)

1. 4B
A4 E 2005 45 11 A 18 H & -

2. {BETHIZ
CoEs (B ) 2 (GF 84 %> [ k45 D) W R B P85 ——
(a) T I HBp—
() 7E45 1 Berbo» JBERR <$3,500” Tift LA “$3,650” ;
(i) 7E55 1(b) Bt > BERR “¢6” MifLLL “¢6.25”
(iil) 7E25 1(c) Bt > JBEBR “¢5.757 ML “¢6” ;
(iv) 7E45 1(c) Berb > BERR “$3,600” TR LA ©$3,7507 ;
(b) FEHH I Hh——o
() TE55 3 Berb > BERR “1 5EDL /R B2 a5 SRR D AL LL “BR— 5
15 SR LA AT o] Bl R B 9R s
(i) 7645 5 Brrb > BE[% “$1,800” TifLLL “$1,900” ;
(iil) 7E45 SA Btrf o JBE[R <$1,900” Tt L4 “$2,000” ;
(iv) IA—
“SB. FLAEME B W SKAE BB A T E BE SN Y B AR LR b
ol BB > TR AL A SE SRS > ZE A 81,250 BYFESR
EHEE o 7



B752 2005 58 111 SEERE 2005 4F55 26 BB AR — A AR T

(V) 7E55 6 Berb > BERRT R HBIAY “$900” mift LA “$1,200” ;
(vi) 7E55 6 Berh > BERR “$950” MiftLL ©$1,200” ;
(¢) TEZ 1L EBrR > BERRERS 1 BEmifth—
“l.  In—o
(a) AEFAE— U W Y 75 A ik 2 s /N EE 09 D G 4 3t
SEVE IROBS 1 RETRT A 1.5 /NIRRT SE s B R 5 5K
(b) TE B A — YRl B 19 75 A At s T $ 0 9 % AR 1) By
R 1 /ZNRE R B SE s BB
HIZE S ] $3,650 [ 4EHEZER - 7 o

SHUE R R
= 3%
ANT06

200546 H 27 H

i B

A GRT CEME (FH) ) (B 84 % > i@ iL ] D) Li—
(a) ARG 2 S — LU MR 2
(b) KUE ZOREME BAE A #E K BUAE T 585> (A BT 7R Byt adt) & F al
e B A A T 2 3 ) A ] L A 5 2 SR A B A M 2
(c) a0 £ 45 W IR P42 HOTH S B RIS ZE SO A S 2
(d) A — BT SRS 5 DER IR AT S B -



